oo FeA e F Fadw weget @ W= A | (IR 150 w=at ¥ Qifom)

Discuss the salient features of the Harappan architecture. (A’nswer T
b Toen Hla ””’2_. 10

sk ¥ e eEedar ¥ yE degdl & e R )
(I 150 =1 # Q)

Examine the main aspects of Akbar’s religious syncretism. (Answer in 150 words)
bt B e ,{«i{,}ﬁb 10

‘W%ﬁ%ﬁw@aﬁﬁmﬁwaﬁimmﬁmﬁmr
we ffm | (IR 150 v 7 )

“The sculptors filled the Chande_ll_a artfogfg}with resilient vigor and breadth of
life.” Elucidate. (Answer in 150 words) k;b{;.wmz%o ferpls 10

m%ﬁﬁwwﬁg&aﬁﬁq%ﬁ%mﬁaaﬁ%&qﬁa
R @ 27 Soei ¥ oww W Afm | (FW 150 =i A dibm)

How are climate change and the sea level rise affecting the very existence of
many island nations ? Discuss with examples. (Answer in 150 words) 10

et s R § 7 % aRRREl e ¥ e Rt 3
e R HETE & 7 I ITEV & AT S R | (SRR 150 v # i)

What are non-farm primary activities? How are these activities related to
physiographic features in India ? Discuss with suitable examples.

(Answer in 150 words)

aﬂmm@ﬁ%w.wﬁﬁtwﬁw%mﬁ%ﬁmﬁﬁmﬁ
& o ¥ sen AR (R 150 W= H Q)

Explain briefly the ecological and economic benefits of solar energy generation
in India with suitable examples. (Answer in 150 words) 10

10

wm%?%%@raﬁwmﬁaﬂﬁﬁ%?eﬂ%wﬁww%?mﬁa&a
WA | (IR 150 WAl H Q)

What are Tsunamis ? How and where are they formed? What are their
consequences ? Explain with examples. (Answer in 150 words) 10
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10.

11.

13

14.

EUCHE R I G R TR E I R . i Sy p—
27 (IW 150 = # dfm)

How does smart city in India, address the issues of urban poverty and
distributive justice ? (Answer in 150 words) 10

a4 fofad da @ deEr St @R TEE Y5 ¥ s @
witw ®-we difm | (s o150 v= § @)

The ethos of civil service in India stand for the combination of
professionalism with nationalistic consciousness — Elucidate.
(Answer in 150 words) 10

g wr @ fe dvdie @ oofomm Faw s gmin wef @
27 s I A g fif ) (sw o150 w= o @)

Do you think that globalization results in only an aggressive consumer culture ?
Justify your answer. (Answer in 150 words) 10

WEIHT WIdRE T & @69 YR WA SR @ 3 aur ¥ e aht i
Tod I owwE @ g € W= fifim ) (IR 250 =i § Afm)

Mahatma Jotirao Phule’s writings and efforts of social reforms touched issues

of almost all subaltern classes® Discuss. (Answer in 250 words) 15
B N '11._1;0"*;9;? ' De ks by )

TSqaA, w4 waeE, e 9k ssRigm we & g § oaend & arfe

G | WA F g B whEn @ it ffm | (Iw 250 @ i A

Trace India’s consolidation process during early phase of independence in terms
of polity, economy, education and international relations. (Answer in 250 words)

15
mﬂﬁw%ﬁqmwﬁﬁﬁiﬁtmhmaﬁﬁm
(| 250 s=q1 & <ifsm)

The French Revolution has enduring relevance to the contemporary  world.
Explain. (Answer in 250 words) . s

ﬁﬁ%wﬂiﬂ%{aﬁaﬁﬁﬁﬂmmmmﬁqmamﬁ
9 WK 8 over fmm 20 (s 250 w=mi # Afm)

Give a geographical explanation of the distribution of off-shore o] reserves
of the world. How are they different from the on-shore occurrences of oil
reserves 7 (Answer in 250 words) 15
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15

16.

17.

18.

19.

20.

Wﬁ?éﬁﬂuﬁmaﬁﬁﬁsﬁ.m.@.mm.@.aﬁaﬁ%m@ﬁfn
T (Tamd) sk 3w @ s @ @ IEm & e s owww ® 7
(SR 250 w=at # difo)

How can Artificial Intelligence (Al) and drones be effectively used along with
GIS and RS techniques in locational and areal planning ?
(Answer in 250 words) 15

==t fifse f& we F med R AeEvRE WG\ F aer AR wm (AEE)
A, Fed TEWEl & e TEtEl & Fru, skadw @ Ed #
(S| 250 w=at & difm)

Discuss how the changes in shape and sizes of continents and ocean basins

of the planet take place due to tectonic movements of the crustal masses.
(Answer in 250 words) 15

i, figt ok o wedl & R wed ¥ wa o ad afm @ e faE
#R i W Tt Aif ) (SR 250 v # i)

Discuss the distribution and density of population in the Ganga River Basin
with special reference to land, soil and water resources. (Answer in 250 words)

15

T T wed g ae % A, W wowm oa
B- W R A 2wl oE ¥ A S S SmEw de em
N | (I® 250 w=F ¥ difm)

How do you account for the growing fast food industries given that there are
;ngeased health concems in modem society ? Tlustrate your answer with the
ndian experience. (Answer in 250 words) 15

ﬁﬁmj;ﬁ“s“ﬁ@ﬂﬁﬁﬁﬂﬂmﬁam,m%ﬁﬁm
| 9 ZEwRE H _ feat Hifso
(I 250 9= H ) 5T R |

Achieving susta‘inable_ growth
come into conflict With poqr
(Answer in 250 words)

With emphasis on environmental protection could
People’s needs in a country like India — Comment

15
r m é‘ - "_‘ - o
w1 A ""'(Bmgfm’ fear ik grate & w-fad S 2 7
g fomm o St | 250 W=t % Hfym \ |
Does tribal development in India cenyy, aroun

3 two avee o —
and of rehabilitation 7 Give YOU Opinion, (o 0 axes, those of displacement

(Answer m 250 words) 15
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